bds guckflnst

cf:j= 2072/073 sflcgtifigt < ; zflwt cgtfglt vrf]laj<)f

;st o= laj<)f cgtifg ;Zflwt cgtifg

1:01:1 |tnj sdff< 11500000 10700000
1:01:2  |kbflwsf< kf<>Ids 0 0
1:01:4 |aldf [k|dod vr{ 300000 40000
1:02-1 |sdff<l eqQf 2500000 135000
1:02:3 |ags eQf 500000 350000
1::03 | ;?jf ef))f vr{tyf blgs eQf 25000 0
1:04 |kikfs 400000 565000
1:05 |viBftg tyf cfxi 5000 0
1:06 |cfiflw pkri 25000 0
1:07 |Far g Fiaem (& FeTT w ) 4000000 4000000
1:08 |tfind sfo§fl vr{ 300000 0
2:01  |kfgl tyf lahhl dxzh 300000 345000
2:02 |;rfdzh 150000 155000
2:03 |sfoffio ;rfng ;Dj6wl vir{ 2177000 3600000
2:04 |ef*f 500000 340000
2:05 |ddf tyf ;Def 700000 950000
2:06-1 |; <L Obwg kbflwsf<L 500000 950000
2:06:2 |;jfL Ofwg sdffL 400000 350000
2:06-3 |cto Ofwg 100000 5000
2:06:4 |Ofwg hpi< 300000 200000
2:07:1 |k<fdz{tyf cto ;]Jf zls 200000 100000
2:07:2 | ;<;kif{vr{tyf cto ;jf zl\s 50000 0
2:08-1 |;b:otf zl\s 100000 50000
2:08-2 |cfly§ ;xfotf 50000 50000
2:08-3 |kk:si 100000 0
2:08:4 |KkKkifb ;~rfng vr{ 150000 545000
2:08-5 |laljw vrr{ 750000 1200000
301 |;fjhlgs ;:yfnfo{cgbfg 400000 50000
3.03 |;fdflhs ;:yfnfO{cgbfg 300000 0
3.04 | ;fdflhs ;&Iff cghfy 33000000 43128000
4.05.1 |sfogfl efl)f vir{kbflwsf< 100000 0
4.05.2 |sfosfl efl)f vir{sdffL 600000 1375000
4.06 |lgldt ;fjhlgs ;0klQsf];Def< vir{ 500000 600000
4.07 |gusst];<;kifo{tyf kifkffdhf Joj:yfkg 5471237 8300000
4.08 |af?)fobg ;rfng vr{ 4560000 4500000
11.01 el hreel =Tt SAehtAT (4./9.%w) 300000 150000
12 |lkrtf{vrr{ 400000 400000
rfn' vr§f]lhddf 71713237.00 83133000.00




bds guckflnst

cf:j= 2072/073 sflcgtifigt < ; zflwt cgtfglt vrf]laj<)f

;st o= laj<)f cgtifg ;Zflwt cgtifg
5.01 hluf vi<b 10000 5000
5.02 |ejg vkb 10000 0
6.01  kilgf< 200000 300000
6.02 |;jf<d ;fwg 50000 5958140
6.03 |dlzg<l cfhi< tyf cto pks<)f 500000 650000
6.04 |ejg lgdfff 31500000 2200000
6.05 |;fjhlgs Igdfff vr{ 169343863 133000000
6.06 |klhut ;i< vir{ 9875000 3600000
6.07 |clioog tyf kihut kfljlws k<fdz{;jf 1500000 1650000
8.01 |;fjhlgs ;:yfnf0{cgbfg 500000 150000
8.03 |;]Jfdhs ;:yfnfo{lb0§]cgbfy 500000 0
10.01 | err=afves Tl |TET ThTAT (7.7, 500000 2500000

kihut vr§flnddf,  214488863.00 150013140.00
hbdf 286202100.00 233146140.00




